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FIAKlEER GER : SM7E1081H)

(1)9FF~108530%. (2)10KF304r~12kF

(3)1285304r ~148F, (4)14B5~158530%

i BE/ XD (5)1585305~ 1765, (6)17H30%~ 1985

(7)19%~2085304>, (8)20F30% ~220ks

HERlE el WER
Hy 1,050 1,250 119%
401£4= 500 600 120%
- 402(48E 500 600 120%
& 403ELE 500 600 120%
A 601 - 602EAE 900 950 106%
603 A= 200 200 100%
f% fz= 500 500 100%
B ESE 900 950 106%
TEE 350 400 114%
x=E 200 250 125%
Hy 1,650 2,250 136%
" BlEAE 350 450 129%
= FEoERE 350 450 129%
A EIERE 350 450 129%
BAELE 700 700 100%
= BhoERE 500 550 110%
B fz= 500 600 120%
ESE 350 450 129%
" Hy 900 1,050 117%
= BlEAE 350 400 114%
= FEERE 500 550 110%
A HEIERE 750 850 113%
BLERE 300 300 100%
f% fz= 300 350 117%
B ESE 650 700 108%
m Hy 900 1,150 128%
ik BlEAE 450 500 111%
FEoERE 500 600 120%
N EIERE 150 200 133%
R fz= 350 400 114%
£ E 500 600 120%
Hy 900 1,350 150%
=2 FEl1ELE 150 200 133%
= FEERE 450 450 100%
N FEIERE 350 400 114%
= BLERE 500 550 110%
8B fz= 500 700 140%
ESE 500 550 110%
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FEXoHLERlE

(19K ~1085304>. (2)108F309 ~126F

(3)1285304r ~148F, (4)14B5~158530%

i BE/ XD (5)1585305~ 1765, (6)17H30%~ 1985

(7)1985~2085304>, (8)208530% ~ 22

HERlE el WER
" FEl1ELE 450 500 111%
. AT 500 650 130%
A EI3ELE 500 650 130%
fiz= 500 550 110%
% EEE 700 750 107%
& = 450 500 111%
i E Ay 750 850 113%
ik BlEAE 200 250 125%
E2ELE 350 450 129%
A EIELE 200 250 125%
R fiz= 350 350 100%
£ £BE 450 450 100%
Fie 1,050 1,500 143%
X BIELE 200 250 125%
ft E2ERE 350 400 114%
N EIELT 350 500 143%
=2 fiz= 350 500 143%
e £BE 650 650 100%
TE= 600 650 108%
Fie 1,050 1,550 148%
FH BIERE 200 250 125%
B LT 300 350 117%
N EIELE 350 400 114%
R fiz= 500 600 120%
fE £BE 500 600 120%
TE= 650 650 100%
. Fie 2,250 2,800 124%
;; ElELE 500 550 110%
A LT 450 450 100%
= 3. AELE 600 650 108%
i fiz= 650 700 108%
& £BE 600 650 108%
Fie 1,050 1,550 148%
& FEl1ELE 500 550 110%
2 FEAE 350 400 114%
N HEIELT 300 300 100%
=2 fiz= 500 500 100%
BB £BE 500 550 110%
TE= 650 650 100%
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EXpIEERE
(1)9KF~10M530%. (2)10KF309 ~12KF
(3)128F300~ 14/, (4)14K5~15/F30%
iz BE/ XD (5)158304 ~ 1785, (6)1785304> ~ 1985
(7)198~2085304>, (8)208F304 ~220KF
b e FElE WER
5 E 2,300 2,800 122%
" BIESE 350 450 129%
N EoELE 350 500 143%
AN
= BIELE 200 200 100%
" M= 500 650 130%
E£EE 450 450 100%
E 1,250 1,800 144%
i3 ElEAT 500 500 100%
i E2EAE 350 350 100%
N EIELE 200 250 125%
=2 BIMNE 500 650 130%
i A= 200 300 150%
E£EE 600 650 108%
= Ee 900 1,150 128%
B BIESE 200 200 100%
N EoEAE 350 350 100%
=2 M= 350 500 143%
o) £B=E 500 550 110%
E 750 900 120%
# ElEAT 600 650 108%
X EoEAE 250 300 120%
N EIELE 350 350 100%
R BAELE 200 250 125%
£ M= 450 450 100%
E£EE 350 400 114%
* BIESE 500 500 100%
" 2 - 3EAE 900 1,050 117%
N BAELE 300 300 100%
= BEEAE 350 450 129%
" BEEAE 500 550 110%
E£EE 700 700 100%
E 900 1,050 117%
) FlELE 200 200 100%
N EoEAE 350 350 100%
2 EIELE 200 200 100%
=2 BAELE 750 1,000 133%
i M= 350 400 114%
E£EE 450 500 111%
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(1)9KF~10M530%. (2)10KF309 ~12KF
(3)128F300~ 14/, (4)14K5~15/F30%

W& e X (5)15H305~ 1765, (6)17H305~ 1985
(7) 19K~ 2085304, (8)20K53040~ 228
CIeES e ek
g |BE 1,050 1,300 124%
L |[Eez= 550 600 109%
N EE TS 350 400 114%
AN
o |m%aE 350 450 129%
o [BE 350 350 100%
£BE 350 450 129%
I 1,050 1,400 133%
=
= |BlERE 350 450 129%
L |BegksE 350 400 114%
AN
o |m%az 350 400 114%
e [BE 450 500 111%
£BE 450 500 111%
*ﬁa e 750 1,000 133%
T 350 400 114%
AN
N [ES 350 400 114%
ELE 350 400 114%
EE 1,050 1,400 133%
x  |BEaE 350 400 114%
N 350 500 143%
B |z 650 700 108%
# |=E= 500 600 120%
|z 1,050 1,350 129%
yo |Bi1EaE 350 350 100%
B |moga= 500 550 110%
B (FE3%ELE 350 400 114%
E |z 350 500 143%
# |=E=x 500 600 120%
=  |BE 1,050 1,550 148%
e |BlLERE 200 250 125%
. |B2Ei=E 350 400 114%
N EEEEES 500 500 100%
AN
NS 350 450 129%
. |XEE 500 550 110%
: I=E 500 500 100%
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